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4. A water treatment plant has four clarifiers treating 15,120 CMD of water.. Each

clarifier is 5 m wide, 24 m long, and 4.5 m deep. Determine: (a) the detention time,
(b) overflow rate, (c) horizontal velocity, and (d) weir loading rate assuming the
weir length is 2.5 times the basin width. ( 10%) :

5. Explain how to conduct a jar test to obtain an optimum coagulant dose. (8%)
6. Define and explain the following terms: (32%)

(1) Disinfection

(2) Rapid Sand Filtration
(3) Colloidal Destabilization
(4) Ion-Exchange Softening
(5) Water Supply System
(6) Eutrophication

(7) Total Trihalomethanes
(8) Fire Demand
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